EARAROBEEIERT — 2 N— IBISH —F

20195F9A7H (+) 7H=HI3H

mﬂﬂiﬁﬂg%/#ﬁ%ﬁﬂu B 5% EEICEE
[AE4£] 17 :600,000  ~ 23#%&:210,000 ~ 33#&:120,000 @ .~ 4 37#:90,000 @ ~ 5 7 :60,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o KRR :31. -7-7- . — E#EEE (SH)
N - REXEESEE #1020 A B e T e
LN=Y7714 B:XFHINIITH HET77— L
s= 2 EEEHR :31. —-3-3- . — Bax##H (S
201111 g5 3w+ 4 7 e (12311/25) 3-3-3-2 | 40.9 5 g;ﬁ %Efﬁ
RN=YI514 BiAU-TITI HET7— L4
. o6 | AME 1:31.6 -1-1-1 | 41.4| — 4 485 | FpEEMETH (BH)
3|55 T—AML> %*50.0 (3/4) 7 | @ TeREb
R:772UIL7 B:14JS5bhyvany Hro—+t>
P Y 4 5 | HEESRI 1:32.0 6-6-6-7 |39.6 | — 8 479 | M)IIEEE (SH0)
g4 Y%= 56.0 @) (5 | EHER
LNn—ErTvy— BiyArYa2EU— HE R
iS5 B4 | BEFNRE 1:32.0 5-5-5-4 | 40.0 | — 2 480 | BlIE— (&)
PR A51.0 () (+1) | TSR
R:TFyTaAK BFEHLI-—Jvo REHS
5= AKESE :32. 9| - wIEE (S5
ALLSHTZ—I H 5 o 1(342)9 8-8-8-8 | 39.9 7 (5_123) Sien
RWN—5—2y T BEVIAYISI 9T J—HrTr—LA
FLSAFINLES # o9 é-éé_%%’é‘% (11313/2% 2-2-2-3 |42.6| — 6 514 ?gﬁig (=)
LTHAFUS - B K- g C16) | gagis
o S 4 5 | BRI 1:33.3 4-4-4-6 |42.3| — 3 496 |IFEBFE ()
8|88 N K=Z 54.0 (1/2) (+1) | ERIBE
R:J4 7 h7—IbEY B:ICKRLIAEVRZX BT — Ly
@ 1—F—@&BIEf
13=zr= 5,4,1,8,7,2,3,6
Aol=5r= 5,4,1,8,7,2,3,6
30—7+— 5,4,1,8,7,2,3,6
43—+ — 5,1,4,7,3,8,2,6
[ RN
B OB 3 1609 714K 1-3 230M B E 1-3 570M &R 1-3-5 1,060M
8 B 3 120/ 3-5 340 B H 3-1 650 JEH 3-1-5 3,200/
1 210H 1-5 960
5 190M9

ABICOVWTRDTEEERROODE. TR LIV,




